
BRETAGNE

TKAZPM
20/04/202220/04/202225/10/2019

ConfirmedVerifiedDrafted

Initials
Date

Scale:

Plan No.

EP00466 E/

EP00466 / E VERMEIREN

BRETAGNE

TKAZPM
20/04/202220/04/202225/10/2019

1:10 ConfirmedVerifiedDrafted

Initials
Date

Scale:

Plan No.

EP00466 E/

EP00466 / E VERMEIREN

Sheet    1/3

1

2a

3

4 5

6

7

8

12
13

15

9a10

11

16
31 32

1433

14

36

37

38

39

40

Add black plastic foot under wood (on both side)/
Dodac czarna plastikowa stopke pod drewno (po dwoch stronach)

2b

41 42



BRETAGNE

TKAZPM
20/04/202220/04/202225/10/2019

ConfirmedVerifiedDrafted

Initials
Date

Scale:

Plan No.

EP00466 E/

EP00466 / E VERMEIREN

BRETAGNE

TKAZPM
20/04/202220/04/202225/10/2019

1:3 ConfirmedVerifiedDrafted

Initials
Date

Scale:

Plan No.

EP00466 E/

EP00466 / E VERMEIREN

Sheet      2/3

16

17

18

19

20

21

22
23

24

25

26

27

28 14

29

30



Material
Nr QuantityPlan Article
1
2a
2b
3

4

5
6
7
8a
8b
9a'
10a
10b
11
12
13
14

YP05829 DP
YP05718
YP08858 DP
XP02820 (beech)
XP02822 (oxide)
XP02821 (beech)
XP02823 (oxide)
X005930
Armrest left
Armrest right
XP01828
XP03185
XP01824
XP01827
XP03183
M8X45 DIN933
M8X60 DIN912
Nut M6 DIN934
M6X12 ISO7380

2726565
2722265
2629865
HP00616
HP00618
HP00617
HP00619
1916350
EP00465
EP00465
2993544
2996809
HP00263
2993543
2996807
1005901
1997781
1001670
1007000

1
1
1
1
1
1
1
4
1
1
1
1
1
1
1
1
2
8

16

Material
Nr Plan Article

Seat
Nut M8 DIN985
YP00716
YP00715
YP00483
YP00568
YP05712
YP00491
YP00635
YP00412
YP00592
X001862
Washer M8
M8X20
M8X20 DIN933
M8x25 DIN933
YP06345
Cap 30x30
M6x16 DIN7991 Black
Uph. footrest black
Uph. footrest beige
Uph. footrest brown
Uph. backrest black
Uph. backrest beige
Uph. backrest brown

EP00464
1001682
1825065
1824965
1822465
1822265
2722165
1822365
1822865
1822565
1822665
1447500
1003199
1992349
1009400
1001442
2735365
1003198
2994064
2994665
2994667
2994670
2994668
2994669
2994671

1
19
1
1
2
2
2
2
2
1
1
3

30
4
2
4
1
1

20
1
1
1
1
1
1

Quantity

15
16
17
18
19
20
21
22
23
24
25
26
27
28
29
30
31
32
33
34*

35*

*not depicted on drawing
'only for method 1 - not needed in method 2
''only for method 2 - not needed in method 1

Material
Nr QuantityPlan Article

XP02829 (beech)
XP02830 (oxide)
YP06347
YP06348
Washer M6
M6x20 DIN 7991
Y000462
X000273

HP00624
HP00625
2736065
2736165
1001564
1903081
F000050
G060600

1
1
1
1
4
4
2
2

36

37
38
39
40
41b''
42b''

|
|

|
|
|
|
|

a - method 1
b - method 2
choose only one method and don't mix method 1 and 2 parts

BRETAGNE

TKAZPM
20/04/202220/04/202225/10/2019

ConfirmedVerifiedDrafted

Initials
Date

Scale:

Plan No.

EP00466 E/

EP00466 / E VERMEIREN

BRETAGNE

TKAZPM
20/04/202220/04/202225/10/2019

ConfirmedVerifiedDrafted

Initials
Date

Scale:

Plan No.

EP00466 E/

EP00466 / E VERMEIREN

Sheet     3/3


